
Carichi	
  stru+urali	
  :	
  
	
  corren(	
  	
  	
   	
  (0.1*0.14*5)*2=0.14	
  
	
  assito 	
  0.025*1*1*5	
  =	
  0.125	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  0.265	
  

Carichi	
  permanen1	
  :	
  
	
  pavimento	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0.4	
  	
  
	
  masse;o	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0.03*1*1*21	
  =	
  0.63	
  
	
  caldana 	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0.04*1*1*7	
  	
  =	
  	
  0.28	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  regoli	
  in	
  legno	
  	
  (0.6*0.6*1*5)*2	
  =	
  0.036	
  
	
  cannicciata 	
   	
  	
  	
  	
  0.01	
  
	
  intonaco	
  a	
  calce	
  	
  	
  	
  	
  	
  	
  1*1*0.01*18	
  =	
  0.18	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1.536	
  

Carichi	
  accidentali	
  :	
  
	
  ambien(	
  ad	
  uso	
  residenziali	
   	
  	
  	
  	
  	
  	
  	
  2	
  

	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Totale	
  dei	
  carichi 	
  	
  	
  	
  3.801	
  

	
  

Carichi	
  stru+urali	
  :	
  	
  
	
  lamiera	
   	
  2.4	
  

Carichi	
  permanen1(a)	
  :	
  	
  
	
  pavimento	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0.4	
  
	
  masse;o	
   	
  14*0.05*1*1	
  =	
  0.7	
  
	
  controsoffi;o	
   	
  	
  	
  	
  	
  	
  	
  	
  0.6	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  1.16	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (Trave	
  secondaria	
  :	
  IPE	
  180)	
  
	
  
Carichi	
  stru+urali	
  :	
  

	
  lamiera	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  2.4	
  
	
  peso	
  di	
  IPE	
  180	
  	
  0.19	
  
	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  2.59	
  

Carichi	
  permanen1	
  :	
  
	
  carichi	
  permanen((a)	
  	
  1.16	
  
	
  tramezzi	
   	
   	
  	
  1	
  
	
  impian( 	
   	
  	
  0.5	
  
	
   	
   	
  2.66	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  (Trave	
  principale	
  :	
  IPE	
  330)	
  
	
  
Carichi	
  accidentali	
  :	
  

	
  ambien(	
  ad	
  uso	
  residenziali	
  	
  	
  	
  	
  	
  2	
  
	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Totale	
  dei	
  carichi	
  	
  	
  7.25	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  

Carichi	
  stru+urali	
  :	
  
	
  calcestruzzo	
  alleggerito	
  	
  	
  	
  	
  	
  0.04*24*1*1	
  =	
  0.96	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  (0.1*0.18*24)*2	
  =	
  0.86	
  
	
  pigna;e	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  (0.4*0.18*9)*2	
  =	
  1.269	
  
	
   	
   	
   	
   	
  3.116	
  

Carichi	
  permanen1	
  :	
  
	
  pavimento	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0.4	
  
	
  masse;o 	
  	
  14*0.04*1*1	
  =	
  	
  0.56	
  
	
  isolante 	
  	
  0.03*0.2*1*1	
  =	
  0.006	
  
	
  intonaco	
  	
  	
  	
  	
  0.015*13*1*1	
  =0.195	
  
	
  impian( 	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  0.5	
  
	
  tramezzi 	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  1	
  
	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  2.661	
  

Carichi	
  accidentali	
  :	
  
	
  ambien(	
  ad	
  uso	
  residenziali	
  	
  2	
  

	
  
	
  	
  	
  	
  Totale	
  dei	
  carichi	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  7.777	
  

IL	
  SOLAIO	
  

Pavimento 
Massetto 

Caldana 
Correnti 

Regoli in legno 

Cannicciata 
Intonaco a calce 

3cm 
 

14cm 
6cm 

4cm 

Pavimento 
Cemento in polvere 

Getto in cls 
Lamiera grecata 

Trave secondaria 

Controsoffitto in fibra 
 

1cm 
1.20cm 

 
3.80cm 

6cm 

Pavimento 
Massetto 

Isolante termico 
Calcestruzzo 

Pignatta 

Intonaco a gesso 

4cm 
4cm 

18cm 
1.5cm 

3cm 

40cm         10cm        

SOLAIO	
  IN	
  LEGNO	
   SOLAIO	
  IN	
  ACCIAIO	
   SOLAIO	
  IN	
  CALCESTRUZZO	
  ARMATO	
  


